Determinants - Class XII

Related Questions with Solutions

Questions

Quetion: 01

T
The value of g lying between () and — and satisfying the equation
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Quetion: 02

1 1 1
The value of the determinant| ®C; ™*+!C; ™+2C, |is equal to -
m02 m-l—lC2 m—|—2C2

=

A.
B.-1

c.o0

D. None of these

Quetion: 03

If o, B,y are the roots of x3 — 3x + 2 = 0, then the value of the determinant

a f oy
8 v « |isequal to

v oa B
A. -3
B.2
C.1
D. None of these
Quetion: 04
°Cyp °Cy 14
The value of the determinant| °C; °C, 1 |is
°Cy °C5 1
A.0
B. —(6!)
C. 80
D.-576
Quetion: 05
12 22 32 42
22 32 4% 52
The value of the determinant A = is equal to
32 42 52 62 q
42 52 6% 77
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Quetion: 06

1 T r+1
If f(x) = 21 x(r—1) (x+ 1Dz ,then f(100) is equal
3x(z—1) z(x—1)(z—2) (x+ Dz(x—1)
Ao
B.1
C. 100
D. -100

R2 —>R2—R1,R3 —>R3—R1
1+sin’0 cos?6 4sindd
A= -1 1 0 =0
—1 0 1
Cp = Ci+0Cy+GCs
24 4sin46 cos?f 4sin4d

= 0 1 0 =0
0 0 1
= 4sin4f = —21 -
= sindf = 5= sin (%) ,sin(117/6)
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mCl m-l—lcl m+2C1
mC2 m+102 m+202
1 1 1
— mcl m—&-lC1 m+lco + m—&-lc1
mC2 m—HC2 m—HC1 +m+1c2
1 1 0
=| mC, mHC, mtc, [Applying C3 — C3 — Cy]
mC2 m+102 rnJrlc1
1 1 0
— mcl mCO + mcl m+100
mCy ™Cy+™Cy MOy
1 0 0
= | mC; ™Cy /n+1CO [Applying Cy — Cy — Cl]
G, mC, MG
=" OOy =" O ey

=m+1l-m=1

We have

a f v at+fty B v

5 Yoo | = Oé+5+7 v« [Cl—>Cl+CQ+C3}

v oa B at+fty a

=0 [','oz—i—ﬁ—l—fy:Ofromtheequationx3—3gc+2:0]



°Cop °Cy 14 1 10 14
°5Cy °C4 1 |=|5 5 1
5Cy °Cy 1 10 1 1
16 16 16
=[5 5 1
100 1 1

R1—>R1+R2+R3
1

11
=16 5 5 1
011

=16

o O O =
O = O

1
1 Cl—>C1—CQ,CQ—>C2—C3
1

= 16[0 - 36] = - 16 X 36

1 4 9 16
A= 3 196 ;g gg (Rg —)Rg—RQ,R4—>R4—R1)
16 25 36 49
1 4 9 16
4 9 16 25
5 7 9 11
21 27 33
4 9 16
16 25
9 11
9 11

—_

=3

5
1
4
5 =0 (R4—>R4—R3)
)

- 3 ©

We have
1 1 1

fle)=2z(z+1)(z—-1)| 2z z—-1 =z
v v—-2 x
1 1 1
=zx(z+1)(z—1)| 2z z—1 x [C; — C; — Cgand
3r v —2 x
CQ—>CQ_C3]:O
Hence, f(100) = 0

Correct Options

Answer:01
Correct Options:
Answer:02
Correct Options:
Answer:03
Correct Options:
Answer:04
Correct Options:
Answer:05
Correct Options:
Answer:06
Correct Options:
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